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320 | 11:15 | 9+ = [35% = [s00M g 234 m3¢x
321 | 11:15 | 9+ = [40& = [soom Ak |23 m3s
322 | 11:20 | 95 = [45 2 [s00M T
323 | 11:20 | 95 = [50& = [soom Ak 264, 364
324 | 11:20 | 95 & [158 % [asSPKG) g 274 s
325 | 11:25 | 9+ = [55% = [goom Ak |27 s




326 | 11:30 | 93 % 2 |1800M - 264, P64
327 11:30 | 9§+ = 2 |800M - 4L B4
328 | 11:35 | 93 % 2 |1800M 5 234, B34
329 | 11:35 | 9+ & & |800M - H]A, B A
330 | 11:35 | 9% % 2 |1800M a5 HQA L BDA
331 | 11:35 | 9+ = [8hgk = [800M - H]1A, B4

097 29p (&#p) 12:20 BB 2
JE | RTPERY KR AN P # A7 5 LA
332 13:00 | ~ = = |& k2 [4X%400M4% 4 - 11:00% =45 £
333 | 13:00 | ¥+ & [& ki [4%400M4x+ - 11:00% =3 &
334 | 13:15 | 4+ % [5hfk = |4&3k (3KG) - 234, B34
335 | 13:15 | ~ = ‘= [60% % |4&3k (3KG) - H]1A, B4
336 | 13:15 | 4+ % (650 = |4&3k (3KG) - EY R
337 | 13:15 | ~ = ‘e |70 % |4&3k (3KG) & QA B4
338 | 13:30 | ¥ 3 % (25 = |3000MFp7t - F 1A, FEIRLA
339 | 13:30 | ¥ 3 % [35fk = |3000MF7t - £5A FIEHA
340 | 13:30 | § =+ % [45% = |3000MFp 7t - F E2A, FHIE2A
341 | 13:30 | 9 = %= [50% = |3000MF 7% - E2AFE2A
342 | 13:30 | § =+ % [55k = |3000MFpat - L34, FHIEIA
343 | 13:50 | ~ = ‘% (30 = |2000MF 7 - E1AFERLA
344 | 13:50 | + 3 % [40% = |2000MF 7% - F E2A, FIE2A
345 | 13:50 | ~ = % [50% %= |2000MF 7% - E1AFERLA
346 | 13:50 | ¥ =+ % [60% = [2000MF 7% - L6064, #FIEOA
347 | 13:50 | ¥ = %= (656 = |2000MF 7% - L34, FR3A
348 | 13:50 | ¥ =+ %= [T0% = |2000MF 7% - E2A, FHIE2A
349 | 13:50 | ¥ 3 %= |75k = |2000MF 7% - E1A, FRLA

BienrTe P& 5% 12 2 See You again
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